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EHRERME | FHRER|srmmsan RABMRLE ATERn| RATHRR HEXHEE BREE| BB (BBt R R E [exedex]sases] 2NEE
m/s m/s m/s % h MJ MJ hPa % % %
1:00(F&It A it} 5.7|7 732 0 0 0 1009.5 725
2:00[JLF [i] 5.1|FadLd 70.9 0 0 0 1009.3 725
3:.00[7& [ i) 8.3| AL 80.5 5 0 0 1008.6 726
4:00[Jt 7 E[Ai] 10.1[JtFE 65.8 0 0 0 1009.1 725
5:00[ 7L FE [ i) 10.9[F&L A 58.7 0 0 0 1010.2 723
6:00|4L.78 ElA:ic] 10.3[F&tL A 62 0 0 0 1011.2 72.1
7:00[Jt7 [ dic] 11.7[4E 7 54.9 0 0.1 0.14 1011.7 7138
8:.00[ AL [ dic] 12.8[FILAA 51.4 0 0.8 0.78 1012.2 715
9:00[ AL [ dic] 13|FadLdE 51.8 0 1.8 1.41 1012.5 71.2
10:00[ 7L [ i) 15.6[ LA 4238 0 2.5 1.78 1012.5 70.8
11:00[ 74 7h 15.3[78 55.3 0 2.9 1.48 1012.5 70.6
12:00[ 7L i) 15.8[78 69.9 0 3 0.98 1012.5 70.6
13:00|FaJLFA i A 15.3[FEdt R 34 0 39 244 1011.8 70.1
14:00|JL78 i A 16|FadLFE 342 0 42 1.1 1012.2 69.6
15:00|FaJL 7 i A 15.6 [Pt 7R 47.2 0 46 1.48 1013.1 69.3
16:00|FaJLFA i A 15.1[PEIt 7R 61.2 0 5.2 1.11 1014.2 69.2
17:00[ k7 [ i) 15.1|FE4L 7 48.3 0 5.6 0.65 1015.1 68.9
18:00 (AL B[Ai] 14.4[4L 7 55.2 0 5.6 0.05 68.7
19:00[ 7L [ i) 15.5| a4t A 51.8 0 5.6 0 68.5
20:00(FH L7 [ i) 12.8|#a4L 7 45.2 0 56 0 1017.6 68.2
21007 [ i) 14.9|#E L7 41 0 56 0 1018.4 67.8
22:.00| L7 [ i) 13|#adt P 44.2 0 56 0 1018.8 67.5
23007 [ i) 10.4|FE L7 39.4 0 5.6 0 1018.8 67.1
24:00:00[ AL FE E[Ai] P RIGE A 44 0 56 0 1018.6 66.8
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SEHEA | T RGR | sormmesmn | SARMRE| SATHHEAN HRNEE BEIRE| BHE [EBEASs HhSKE ENRE
m/s m/s h MJ MJ hPa %
Ty 53.5 1013.5 70.1
e [ i) [ i) 16|t 7 87.7 7238
HCHF 13:10 3:41 : 3:45
=IE 323 1008.4 66.7
HEEF 12:53 : 23:53
BE 5.6 13.4
ELRSEEE (%)
[EdE | dt® [ @mdtm | = | m@s | mm [ Emee | [JtdedE [ 4 TA XA
AREEES1—)] 0] 0] 0] 0] 0.6] 0] 0] |




